FAIRFIELD TOWNSHIP RESOLUTION NO. 23-115

RESOLUTION AUTHORIZING A THEN AND NOW PURCHASE ORDER FOR SPECIALTY TRUCK REPAIR, INC., FOR THE FIRE DEPARTMENT AT A PRICE NOT TO EXCEED \$10,032.61.

WHEREAS: Maintenance issues occurred with Medic 213 that needed to be addressed in a timely manner; and

NOW, THEREFORE, BE IT RESOLVED, by the Board of Trustees of Fairfield Township, Butler County, Ohio, as follows;

- SECTION 1: The Board hereby authorizes the payment of the attached invoice from Specialty Truck Repair, Inc., in the amount of \$10,032.61 for the repair of Medic 213. This will be paid out of Fund No. 2111.
- **SECTION 2:** The Board hereby dispenses with the requirement that this resolution be read on two separate days, pursuant to RC 504.10, and authorizes the adoption of this resolution upon its first reading.
- SECTION 3 This resolution is the subject of the general authority granted to the Board of Trustees through the Ohio Revised Code and not the specific authority granted to the Board of Trustees through the status as a Limited Home Rule Township.
- SECTION 4: That it is hereby found and determined that all formal actions of this Board concerning and relating to the passage of this Resolution were taken in meetings open to the public, in compliance with all legal requirements including §121.22 of the Ohio Revised Code.
- **SECTION 5:** This resolution shall take effect at the earliest period allowed by law.

Adopted: September 12, 2023

Board of Trustees	Vote of Trustees		
Michael Berding:	1/25		
Shannon Hartkemeyer	thereby yes		
Joe McAbee:	<u>yes</u>		
AUTHENTICATION This is to certify that this is a resolution which was duly passed and filed with the Fairfield Township Fiscal Officer this 12th day of Suprembur, 2023.			
	TTEST: Shelly Schultz, Fairfield Township Fiscal Officer		
A	APPROVED AS TO FORM:		

awrence E. Barbiere, Township Assistant Law Director



Specialty Truck Repair, Inc.

Fax 859-442-7048 90 Jolly Industrial Park Dr. Wilder, KY 41076-9773

INVOICE

R.O. DATE	INVOICE NO.
8/2/2023	22046

BILL TO

Fairfield Township Fire Dept. 6048 Morris Road Fairfield Twp., OH. 45011 Remit To Specialty Truck Repair P.O. Box 176788 Ft. Mitchell, KY 41017-6788

P.O. NO.	TERMS	INVOICE DATE	UNIT NO.	MILEAGE	F	lours
	Net 30	8/21/2023	034	88,293	5874	
QTY	DESCRIPTION			RATE AMOUNT		
Replace Air how Check Check Check Check Check Clean seal. Found Install Dismo	C" P. M. Service ce air filter. ce hood shocks. ct tire pressure. ce back up alarm. ce right lower tie rod e ce front brake pads and ce rear brake pads. ce wheels to 150 .lb / ft cdriver's door hinges. ce side entry door step rns not working: Four compressor: Found c : Found compressor b air horns.OK engine and check for c upper oil pan gasket I and adjust drop chains unt, mount and balanc FA1927 filter 16C826-B hood supp 16C826-A hood supp 12001-B brake pad	I rotors. light. Ind no air to air horn ompressor disconner ad. Replace air control leaks: Found #5 eaking. Replace up 3. e tires.	ected. mpressor. injector oil seal leaking.	Replace #5 injector	120.00 98.34 38.25 37.03 154.50	120.00 98.34 38.25 37.03 154.50
				540.00 170.45		
				 Total	7	

Phone #

E-mail	Web Site	
specialtytruck@fuse.net	WWW.TEAMSTR.NET	



Specialty Truck Repair, Inc.

Fax 859-442-7048 90 Jolly Industrial Park Dr. Wilder, KY 41076-9773

INVOICE

R.O. DATE	INVOICE NO.
8/2/2023	22046

BILL TO

Fairfield Township Fire Dept. 6048 Morris Road Fairfield Twp., OH. 45011 Remit To Specialty Truck Repair P.O. Box 176788 Ft. Mitchell, KY 41017-6788

P.O. NO.	TERMS	INVOICE DATE	UNIT NO.	MILEAGE	H	lours
	Net 30	8/21/2023	034	88,293	5874	
QTY	DESCRIPTION RATE AMO				AMOUNT	
1 HC32	Z-2200-0 brake pad				152.33	152.33
1 HC32	Z-2162-A cap				14.39	14.39
1 MOT	FD4641 filter kit				132.71	132.71
	65-750 batteries				169.95	339.90
1 BC37	Z-6C535-A seal				16.68	16.68
1 BC37	Z-9229-F tube and seal	kit			122.55	122.55
13 qts. N	IIS5w40SYN synthetic	e oil			10.87	141.31
1 MOT	FL2124S filter				46.49	46.49
1 TECH	E45-WBPO2-1 light				37.15	37.15
1 qt. M	SDOT4BRKFLD brak	e fluid			18.10	18.10
4 2NP29 isolator					4.20	16.80
1 10006692 compressor					1,876.97	1,876.97
1 IMP71158 terminal					0.96	0.96
4 F81Z-4N272-AA bolt					0.90	3.60
1 BC3Z-6840-A gasket					13.36	13.36
1 DC3Z-6710-B gasket					19.83	19.83
1 DC3Z						12.88
1 DC3Z	Z-6L621-C gasket			`	14.16	14.16
1 DC3Z						19.83
1 DC3Z	Z-6L621-A gasket				7.09	7.09
2 19.5"	wheels (furnished)				0.00	0.00
1 TA35	7 sealant				52.91	52.91
1 ECC5	1 ECC510 back up alarm					35.51
4 IMP40160 nut				0.80	3.20	
	21.22 / 00 2 / 11.00.11				0.66	5.28
	4 IMP76176 washer				0.28	1.12
	4 IMP16741 5/8 x 21/4 GR8 bolt 1.49				5.96	
3 MOT	3 MOTVC13G extended life coolant 45.99 137.9					137.97
•				Total		

Phone #

E-mail	Web Site	
specialtytruck@fuse.net	WWW.TEAMSTR.NET	



Specialty Truck Repair, Inc.

859-442-7048 Fax 90 Jolly Industrial Park Dr. Wilder, KY 41076-9773

INVOICE

R.O. DATE	INVOICE NO.	
8/2/2023	22046	

BILL TO
Fairfield Township Fire Dept.
6048 Morris Road
Fairfield Twp., OH. 45011

Remit To Specialty Truck Repair P.O. Box 176788 Ft. Mitchell, KY 41017-6788

P.O. N	10.	TERMS	INVOICE DATE	UNIT NO.	MILEAGE	Н	lours
		Net 30	8/21/2023	034	88,293	5874	
QTY			DESC	RIPTION		RATE	AMOUNT
	shop su	pplies				25.00	25.00
					Total		\$10,032.61

Phone #

E-mail	Web Site	
specialtytruck@fuse.net	WWW.TEAMSTR.NET	

Page 3